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1 The volumes of two spheres are in the ratio 64 : 27. The ratio of their surface areasis ? 2
(a) 1:2 (b)2:3
(c)0.3861111111 (d)16:9
2 A solid cuboidal slab of iron of dimension 66cm x 20cm x 27¢m is used to cast an iron pipe. If 1
the outer diameter of the iron pipe is 10 cm and thickness is 1 cm, then find the length of the
pipe.
(a) 1260 cm (b)1180¢cm
(c) 1200 cm (d) 1140 cm
3 The radius of sphere is r cm. It is divided into two equal parts. What is the whole surface area of 2
two parts?
(a) 8mr? (b) 7mr?
(c) 107r? (d) 6mr?
4 Find the total surface area of a solid hemisphere of radius r: 1
(a) 3ar (b) 3mr?
(c) 27r? (d) 47r?
5 A cone of radius 8 cm and height 12 cm is divided into two parts by a plane through the mid- 2
point of its axis parallel to its base. Find the ratio of the volumes of two parts.
(a) 7:1 (b)8:9
(c) 10:7 (d)6:1
6 The curved surface area of aright circular cone of height 15 cm and base diameter 16 cmiis ? 2
(a) 60rem? (b) 68mcm?
(c) 120mem? (d) 1367em?
7 If the area of three adjacent faces of a cuboid are X, Yand Z respectively, then what is the 1

volume of cuboid?
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(a) VXY Z (b) XY Z*
(c) XY Zz3 (d) Xvz
8 1

In the above image, find the area of the shaded region, if BC = BD = 8 cm, AC = AD = 15 cmand
Ois the centre of the circle. (Take, m = 3.14).

(@) 105.87 cm? (b) 106.87 cm?
(c) 116.87 cm? ( d) NONE OF THESE
9 The volume of the largest right circular cone that can be cut out from a cube of edge 4.2 cmis 2
(a) 9.7 cm?® (b) 77.6 cm?®
(c) 58.2¢em? (d)19.4cem?
10 A cone of radius 4 cm is divided into two parts by drawing a plane through the mid point of its 2
axis and parallel to its base. Compare the volumes of the two parts.
(a) 1:5 (b) 4:5
(c) 1.7 (d)3:9
11 If a cone is cut into two parts by a horizontal plane passing through the mid-points of its axis, 1
what is the ratio of the volume of the upper part and the cone?
(a)1:8 (b)1:7
(c)7:8 (d)7:2

9 HEIGHTS EDUCATION, Darri Road Korba (C.G.) - 8234027591



ll Eé Top Coaching Institute in Korba

HeicHts=  Classes : VIL VIIL IX, X, X1 & XII

Complet Details

12 The hour hand of a clockis 6 cm long. The area swept by it between 11 :20amand 11: 55 am 1
is
(a) 5.2 cm? (b) 5.8 cm?
(c) 5cm? (d) 5.5 cm?

13 A cubical ice cream brick of edge 22 cm is to be distributed among some children by filling 2

icecream cones of radius 2 cm and height 7 cm upto its brim. How many children will getice
creamcones ?

(a) 163 (b) 263
(c) 363 (d) 463

14 4.2 cm

.:’,: 2

- 2
3 cm

In the above image, the decorative block shown is made of two solids, acube and a
hemisphere. The base of the block is a cube with edge 5 cm, and the hemisphere fixed on the
top has a diameter of 4.2 cm. Find the total surface area of the block. (Take 7 = 22 )

7
(a) 163.86 ¢m? (b) 136.86 cm?

(c) 163.68 cm? (d) 136.68 cm?
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15 If the volume and the surface area of a sphere are numerically equal, then the radius of the 1
sphere is:
(a) 2units (b) 1 unit
(c) 3units (d) 4 units

16 A cylinder and a cone are of the same base radius and of same height. Find the ratio of the 2
value of the cylinder to that of the cone
(a) 3:1 (b) 2:5
(c)3:7 (d)8:3

17 Read the statements carefully and answer them on the basis of following options, select the 1

one that best describes the two statements.

Assertion: The sum of the length, breadth and height of a cuboid is 19 cm and its diagonal is
5+v/5 cm. Its surface areais 236 cm?.

Reason: The lateral surface area of a cuboid is 2(I + b).

( @) Both assertion and reason are correctand ( b) Both assertion and reason are correct but

reason is the correct explanation of the reason is not the correct explanation of
assertion. the assertion.
( c) Assertion is correct but reason is (d) Assertion is incorrect but reason is
incorrect. correct.
18 A sphere of maximum volume is cut-out from a solid hemisphere of radius r. What is the ratio of 1
the volume of the hemisphere to that of the cut-out sphere?
(a) 4:1 (b) 3:2
(c) 1:7 (d)4:3
19 A cylinder and a cone are of same base radius and of same height. The ratio of the volumes of 1
cylinder to that of the cone is:
(a) 1:3 (b) 2:1
(c) 31 (d)1:2
20 The ratio of lateral surface area to the total surface area of a cylinder with base diameter 1.6 m 2

and height20cmis ?
(a) 1:7 (b)1:5
(c) 71 (d)5:1
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